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17|k BE BAA—2429 |[fFBE=FTPa5—)L 55.294% 54.705%| 51.764%| 53.921% 10

8|ILN = BAH—0429 |[fFBE=FTP 25— 54.705%| 53.529%| 50.000%| 52.744% 11

1| FRE |Z2EX TSR—RIAT40T 55T | 51.764%| 51.176%| 50.000%| 50.980% 61| 12

201tH ERF [T —RE— [P R—RF1F555T| 51.764%| 50.588%| 50.588%| 50.980% 60| 13
12|1FN EEF |FLLA YLA—A—TUIAT5H57 | 49.411%| 52.352%| 50.588%| 50.783% 14

4R = TEHR FLA—H—FLIATIH57 | 48.235%| 48.235%| 47.647%| 48.039% 15
15|&FIL BAAE |EVvYT7UFE—X |\ EZFEEREEE 0.000% 0.000% 0.000%|  0.000% E

18I StEEOP) (B4 H—o10 T  |RBL=TF 24— 59.411% 61.176%| 61.176%| 60.587% Open
10|18 BF(OP) |EVYTURE—R [\EFREEELE 62.941% 64.705%| 64.705%| 64.117% Open
19| ®&JIl E#(OP) |7aL—k FLy¥—o2 27—JL 74| 57.058%| 57.058%| 57.058%| 57.058% Open
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5t 1k B gA: 13:30
2] )
5| 2T 4 E % B H c s | PnS [R5 jau
V=157 Al IO
10|21l KEB A—=FIL1%yk bysRoTr—LRX 59.354% 59.677%| 56.129%| 58.386% 1
5|8 XE BAH—24>%  [ILEA&/IN—+F—X 58.064%| 59.354% 57.419%| 58.279% 2
20AR £ FEZ VLTI |ELE 59.032%| 56.451%| 58.709%| 58.064% 3
3| =I5 FTaL—k FERR)—I L 58.387%| 55.806%| 59.032%| 57.741% 4
11818 #F ATEQ—F BAREAREFR 57.419%| 56.774%| 58.064%| 57.419% 5
4iER K BHE |FR 8T 57.096%| 53.870%| 54.838%| 55.268% 6
U ATEQ—F HARXIEFER 54.838%| 54.516%| 53.548%| 54.300% 7
9| BHE &F FE 8T 53.548%| 51.935%| 51.290%| 52.257% 8
6|ILIE EF IEXNIL—Ta |RER 51.935%| 49.032%| 50.322%| 50.429% 9
8|%raEl HE TEZ VILG4IVELE 50.000%| 46.129%| 47.419%| 47.849% 10
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FIFH FHASE
2010511 A6H FLyH—2a71)—3
JEF G IE BTk 3R H2009B —ARIIAME AR FEREL
5t 1k B gA: 8:30
=¥ )
22| 2% & B % R Ny o v | Bas REER) gy
FIN FH #mmE

13|1E 3BF IL—RUR EREREEIST 60.000%| 56.956%| 58.695%| 58.550% 1
4|WE F ER4 vk ®EVST TUY 58.260%| 56.521%| 58.695%| 57.825% 2
17|BX B& RAYR AL FEREERELE| 55.217%| 56.956%| 59.130%| 57.101% 3
19|48 RF EDILSATY hEr=F7Ia5—)L 55.217%| 55.652%| 58.260% 56.376% 4
24|80 K EBG INYAED)—TFTU|(hBr=FTL 25—l 55.652%| 56.086%| 56.086%| 55.941% 5
IFAR BF VIITR EEEREEIST 58.260%| 56.956%| 52.173%| 55.796% 104| 6
12|47 F18A BHINGD A — [BRBREEGRBZKRE| 56.521% 54.782% 56.086% 55.796% 98| 7
25|f2@ FF EAILSATY hEr=T7I 25—l 53.478%| 56.521%| 56.086% 55.361% 8
1&gl K— ToURDavEd— [pBr=TP 25—l 55.217%| 53.913%| 54.782%| 54.637% 9
21K BB |TLAD—HYAU0V|BEBEXRE 58.260%| 53.043%| 51.739%| 54.347% 10
8|¥kMA HF KL L FLA—H—TUSAT557 | 54.782%| 52.608% 53.478%| 53.622% 11
B|EAR ZF I7HYY BAEEEGRPEKRE| 52.608% 53.478% 53.043%| 53.043% 12
21|RE M= == TSR—RIAT4LT 55T | 52.608%| 52.173% 53.043%| 52.608% 13
16|88 FX TIURDavEd— [fpBr=FTP 25—l 53.043%| 52.608%| 51.304%| 52.318% 14
5|58 X NV =5 EREREEIST 51.739%| 52.608%| 50.000%| 51.449% 96 15
15|Ah BEF |JrMR TSR—RIAT4LT 55T | 51.739%| 52.608% 50.000%| 51.449% 92| 16
2|58 B TIURDavE— [fpBr=TP 25—l 50.869%| 50.000%| 49.130%| 49.999% 17

/it ®EF [/ TULAR ZMBIGEREFEIST 50.434%| 52.173%| 44.347%| 48.984% 18
10|HM BF ERTYb EEUST TUY 0.000% 0.000% 0.000%|  0.000% 00) E
18|FEE; KLA orJl)— LIBEEVST 0.000% 0.000% 0.000%|  0.000% 00) E

1% ##mOP) | /75 LAR BHKIEREIST 57.391% 55.652%| 56.086%| 56.376% Open

3|JEHE IEZR(OP) |FLL FLA—H—TUSATT557 | 56.956%| 54.782% 53.913%| 55.217% Open

6|8l K (OP) |TSURPavdr— |mEL=F 24—l 60.000%| 56.956%| 59.130%| 58.695% Open
14|#fE BEIR(OP) [EHILSATY hEL=FIa5—IL 54.347%| 55217%| 55.652%| 55.072% Open
20[#rE FEFR(OP) [NYHED—FTo|hBEF=ZTI 25—l 60.000%| 57.826%| 60.434%| 59.420% Open

1/1

2010/11/8 20:57



EIEFYAYFRT—IR

FIFH FHASE
2010511 A6H FLyH—2a71)—3
JEF G IE BTk 53R H2009B —ARIIBH AR FEREL
5t 1k B gA: 12:05
2] )
5| 2T 4 E % B H c v | Bas |REER) gy
FH #mmE AEH
13|IUA #F=& N—FATITZ—(hBr=T 25—l 56.521%| 58.260%| 51.304%| 55.361% 1
2188 FX N—FAT T F—(hBr=T 25—l 56.086%| 55.652%| 53.043%| 54.927% 102| 2
20|33 BIF FSTaav ERERFEREIST 56.086%| 56.956%| 51.739%| 54.927% 100 3
o= EF SN —=a BAEEELGRPEKRE| 57.391% 55.652%| 51.304%| 54.782% 4
14|1%EH LA 7—351k LIAEFEVST 54.347%| 55217%| 53.478%| 54.347% 5
18| KM X FiN— NrERER 55.652%| 54.782%| 51.739%| 54.057% 6
PAESZ S i INYAED)—TFTo|(hBr=TPa5—)L 55.652%| 55.217%| 50.434%| 53.767% 7
19|81 EEF |[TLTc/Lyb |IPR—2S14T40595T | 55217% 55.217% 50.434% 53.622% 8
1] (1] m = A=Z—AATALY )L |FLvy—va 25—TL 74|  56.086%| 54.782%| 49.565%| 53.477% 9
12(h8 ®F TIVRToaA— LR EB=TLa5—)L 53913%| 55.217%| 49.565%| 52.898% 10
22(HF T (il BfEXZF 54.782%| 52.608%| 50.434%| 52.608% 11
16|H1IA E£8HK |F714RR NEFREEEE 53.478%| 53.043%| 49.130%| 51.883% 12
8|5E ER INYAED)—TFTo|(hBr=TPa5—)L 54.347%| 52.173%| 48.695%| 51.738% 13
17|EE ERF |N\—FFTIF—|hEL=F7 24—l 53.043%| 53.478%| 48.260%| 51.593% 14
25|ER B FILFz BABEAREPKRZ| 51.739% 52.173%| 48.695%| 50.869% 15
3|TEAR WK IT7HYY BABEAREIPKRZ| 53.478% 49.565% 48.695%| 50.579% 16
23[kM HE XxXN\IW—Ta | BEHST FUY 47.826%| 50.434%| 48.260%| 48.840% 17
1|ER #HF AR -TAh IUR—RIITAVT95T | 50.434%| 48.260%| 46.521%| 48.405% 18
24| RlE BE BR/NET HEKRE 40.869%| 37.826%| 41.304%| 39.999% 19
5|8k HF A R-TAh TER—RIATAVTHTT 0.000%  0.000%  0.000%  0.000% 00)| E
6| EE ERF |EIVRTra—L|FE=TIa5—IL 0.000% 0.000% 0.000%|  0.000% oo E
1378 #EFR(OP) |[ T RT7Ya—IL|hBr=T 24—/ 59.565%| 62.608%| 58.695%| 60.289% oP
4R IMEF(OP) |y F ot FLvt—sa 27—I0 704 | 54.347%| 52.173%| 50.869%| 52.463% oP
7|#rE EEFR(OP) [IN—FATIoF—|[hEr=TI 25— 59.130%| 58.260%| 57.826%| 58.405% oP
10| lUA JF3Z(OP) |[R=—4OT7 A ¥ )L [rvoy—vaz7—Tn 74| 57.826% 58.695% 53.913%| 56.811% oP
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1A BEF (FSTsar EREREESIST 57.826%| 60.000%| 54.347%| 57.391% 1
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FIFRH EYEES
201011 A6H KLyHY—2a71)—3
JEFE IS B firanik F3:EH2009B JBGHI AR
BErEAh: o FHICE RS
e
N _ BAE |REBR| ..

E #RE KEH

3| /mET & TIURTavE— (S 57.826%| 56.956%| 53.478%| 56.086% 1
1188 £5 EVN)T HZAIBM 54.782%| 56.086%| 51.739%| 54.202% 2
4ER BHKR EON)T BAIBM 55.652%| 53.913%| 49.565%| 53.043% 3
2|H% fH— == HARXIEFER 55.217%| 52.173%| 50.000%| 52.463% 4
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